

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$54,229,520.90	\$48,925,111.58
Contributions	\$0.00	\$3,209,822.70
Withdrawals	(\$430,001.05)	(\$860,001.05)
Transfers In/Out	\$0.00	\$0.00
Income	\$40,631.88	\$140,084.89
Administrative Expense	(\$741.42)	(\$4,107.25)
Investment Expense	(\$1,185.99)	(\$10,911.20)
Investment Manager Fees	(\$61.59)	(\$1,858.05)
IFA Loan Repayment	\$0.00	(\$38,578.98)
Adjustment	\$31,949.04	\$31,949.04
Realized Gain/Loss	\$122.60	\$16,639.29
Unrealized Gain/Loss	(\$759,698.90)	\$1,702,384.50
Ending Balance	\$53,110,535.47	\$53,110,535.47

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	3.34%	09/01/2022

ALTON POLICE PENSION FUND

Fund Name: ALTON POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$137.99
Contributions	\$0.00	(\$4,177.30)
Withdrawals	(\$1.05)	(\$1.05)
Transfers In/Out	(\$52.58)	\$3,986.73
Income	\$53.63	\$53.63
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	\$0.00
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	5.363	9.789
Unit Purchases from Additions	0.105	(4.321)
Unit Sales from Withdrawals	(5.468)	(5.468)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit		\$14.096291
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/01/2022

ALTON POLICE PENSION FUND

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$54,229,400.83	\$48,917,970.82
Contributions	\$0.00	\$3,214,000.00
Withdrawals	(\$430,000.00)	(\$860,000.00)
Transfers In/Out	\$170.62	\$3,306.10
Income	\$40,577.80	\$140,022.46
Administrative Expense	(\$741.42)	(\$4,107.25)
Investment Expense	(\$1,185.99)	(\$10,911.20)
Investment Manager Fees	(\$61.59)	(\$1,858.05)
IFA Loan Repayment	\$0.00	(\$38,578.98)
Adjustment	\$31,949.04	\$31,949.04
Realized Gain/Loss	\$125.01	\$16,413.69
Unrealized Gain/Loss	(\$759,698.83)	\$1,702,328.84
Ending Balance	\$53,110,535.47	\$53,110,535.47

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	5,439,215.721	5,158,019.316
Unit Purchases from Additions	3,221.902	328,049.771
Unit Sales from Withdrawals	(43,313.872)	(86,945.335)
Ending Units	5,399,123.752	5,399,123.752
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	4.29%	09/01/2022

ALTON POLICE PENSION FUND

Fund Name: Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$120.07	\$7,002.77
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$118.04)	(\$7,292.83)
Income	\$0.45	\$8.80
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$2.41)	\$225.60
Unrealized Gain/Loss	(\$0.07)	\$55.66
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	13.233	801.988
Unit Purchases from Additions	0.118	452.622
Unit Sales from Withdrawals	(13.351)	(1,254.610)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/13/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

Trade Date	Settle Date	Description	Amount	Unit Value	Units
ALTON POLICE PEN	ISION				
05/01/2023	05/02/2023	Transfers Out	(53.63)	10.000000	(5.3630)
05/25/2023	05/26/2023	Transfers In	1.05	10.000000	0.1050
05/25/2023	05/26/2023	Redemptions	(1.05)	10.000000	(0.1050)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	31,949.04	9.970077	3,204.4928
05/01/2023	05/02/2023	Transfers In	53.63	9.949907	5.3900
05/12/2023	05/15/2023	Redemptions	(430,000.00)	9.927560	(43,313.7649)
05/25/2023	05/26/2023	Transfers In	118.04	9.820810	12.0194
05/25/2023	05/26/2023	Transfers Out	(1.05)	9.820810	(0.1069)
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(1.05)	8.919671	(0.1177)
05/25/2023	05/26/2023	Transfers Out	(118.04)	8.919671	(13.2333)
05/25/2023	05/26/2023	Transfers In	1.05	8.919671	0.1177